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00 CERTIFICATE IN WATER HARVESTING 
AND MANAGEMENT (CWHM) 

CO 
Term-End Examination 

June, 2011 

ONR-003 : WATER HARVESTING, 
CONSERVATION AND UTILIZATION 

Time : 3 hours 	 Maximum Marks : 75 

Note : Attempt any five questions. All questions carry equal 

marks. 

	

1. 	(a) 	Define water harvesting. Explain its 	5 
importance in present context. 

(b) Define the following terms : 	 5 

(i) Bench terracing 

(ii) Nala Building 

(iii) Aquifer 

(iv) Ground water recharge 
(v) Cropping intensity 

(c) Explain runoff coefficient and its 5 
importance for designing any water 
harvesting structures. 

	

2. 	(a) 	List different methods of artificial recharge 	5 
to ground water. 
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(b) Calculate the runoff amount of 200 ha area 	5 
if rainfall depth is 10 cm. Assume runoff 
coefficient for the area is 0.1. 

(c) What is irrigation scheduling ? List 	5 
advantages of irrigation scheduling. 

	

3. 	(a) What is micro irrigation ? Explain 	5 
importance of micro irrigation in present 
context. 

(b) What is Percolation Ponds ? Explain its 	5 
importance for ground water recharge. 

(c) Write short note on purification of water. 	5 

	

4. 	(a) flow do you design storage tank ? List 	5 
different steps for its design. 

(b) List different traditional methods of water 	5 
storage. 

(c) What is spillway ? Explain its importance. 	5 

	

5. 	(a) 	Define following term : 	 5 

(i) Embankment 

(ii) Evaporation 

(iii) Free board 

(iv) Soil Profile 

(v) Runoff 

(b) Now does water conservations help in 	5 
ensuring agriculture sustainability ? 

(c) List two methods for both irrigated and 	5 
rainfed farming to conserve waters. 

	

6. 	(a) Differentiate between water conveyence 	5 
and water application efficiency. 
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(b) What are agronomical factors in enhancing 	5 
water use efficiency ? 

(c) Calculate water storage efficiency if water 	5 
stored in root zone is 56 litre and water 
needed in root zone is 70 litre. 

	

7. 	(a) Explain polythene lining farm pond. What 	5 
precaution should be taken during lining of 
this pond ? 

(b) Compute total volume of water harvested 	5 
from roof area of 100m2  receiving rainfall 
of 400 mm during monsoon season. 
Assume collection efficiency is 90%. 

(c) How does contour farming is important on 	5 
hill slopes ? Explain. 

	

8. 	(a) How will you compute domestic and crop 	8 
water demand ? 

(b) What are the main factors deciding the type 	7 
of water harvesting structures ? 
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